2034 g BIRAL V45—

BE RN AR

XEROOF U A IV ARRIEF AR RD I8,

TERBDNEETNBEELHYET,

F21E=0Z 2 =F 14 K—IVIZ2ID
(RIREV=AR—YE2—)
Ftr=HHEBREFREtLZ2—)
Juer=lNERt>2—)

(IEE=A45I57 bV 2—HMIEE)
(FEE=EBRBTIIXEEE)

(ERSY=CEEBEE2—)
(B2 C=FBTXEZE 522 Ib—L1D)

(BR=ERR+Fmk

(Rt r=HlgEut>2—)
(R =FHFMEEBRZ R 2—)
Rty =REFERLV2—)

(FhAE=Z2BHXTRERITAE)
(PR=thRNREE)

KTHIIFABHETICHBHLTEN

[e] m ol > =
B R -2 K X1t - BE - RAR—Y Ml - k- ZOfth  GE2RE A%
Eh < YHBIRERERHI (~5H) MRTH
1+ n REIEAR (R E R
(~58)
n REERR SRR RS AR
2| H
e —IRRERS - BT EEFIER8:30~@t 5->ZHE=A EH
4K 5057 MEYEERBABRI0:00~C£T1E | BRIVEZGEETR(~5H) HRTH
5 |k WA TR (2 TDOFHIER) 13:30~ Ak MRTH
BEEME 9:30~1%185] Eh <Y HBRERNEE R RERIA HRECH
):I x F 'J }:I a ~
6 K 13:10~HBEHEAL b 4 — B a T
14:20~BE PRI BEE
15:20~H7RE0
BRIERLIEE (~118) KTk
7 & BEPAZR
BESEIR. lLER
8 |+ Eh <Y EI6E AR 30~ MRTH
9 H
10l 5 —ERERY - BFRETFIERI8:30~@1 §E$§?§§¥$§A(~zsa> ETH
o N R
BERAE (B8) BREEAZR. AZ
U&TH5710:00~Ft P BRESRNES BATH |HATH
1 % = % BB KM B85 % 1855 Tk
x hRAREE N 14:00 ~ BECH |HETH
IR TR (2 T DOFHHER) 13:30~ B : - BR/VREETH (~14R) MRT TH
12| K ARE V| K 19:00 ~ n =t
EDENRI13:130~FLY i 2 — A 14:00 ~ Eh S EEHE EECH
13/ K B & | 14:00 ~ Eﬁd\ﬁ%%@( -
: ”ood 22 (1
wiEe>2—| B 14:00 ~ ERCYBU- TETENTE (ER) KTk
14| BRIVERSHE
15+ BEREESHA.PTAKS BT H
68 BR/IERBEA. P TARS. FREBHS
—RRERS - BT REEFIERM8:30~@t ERCHIYEDY EH
17 B BRA/VREEEH (~208)
n BHRE (EEE)
18] % BERZA(1F) HERTH
LB F IR (2 TDOFHER) 13:30~ A BRIVENRE (P2E) R
19| 7K BEHRZHE(245)
ERCH—BBU- T (ER) ERTH
20| K BR/IBYRER
BER=H(345)
BRIVENRE (B2F) KTk
21| & BEDLERS (14)
23| £ TEIADFSAAHL—BRE11:30~REE BRT TH
23 H
—IRRERS - BT EEFERM8:30~@t EH
24 B
BTENES — B BRROEBRILHMBNINI | 5> 7B CHBE BHBTH |BHBTH
25|k ~F)) (~6/25) | BREFIRIEE (14F) BECH |BETH
26 7k WA FHER (2 TDOFHER) 13:30~ Ak BREPENRE (2F) MR TH
MEEkER (REEER) BR/VEIRERE (3. 55) HERCH
27 K %”¢§§£§§§1‘¢%‘3‘5E)
B 3
RIZERMEREE20:00% C Eh <Y BIES ETH
28 £ BEFY U — e
29| + BMOE BIFEBUN—7 N TBA—TY (FE) BESEE2HA.PTALS PERH%S BRT TH
30l 8 BESHE (~5/7)




